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No. 44 24 BEEE . __ 2RBR .
BEAN | AREN | TREN | AREN | REEE
1 |1EER TLEw 140 22 0 0 0 -
2 |+#m@ TaER 70 36 0 0 0 -
3 /MR TLER 35 28 0 0 0 -
EEITZR 35 16 0 0 0 -
5 AR pres) % 3 0 0 0 _
b [AREEWEEE  |wEn 60 27 2 2 2| 1.0
E R E R 52 26 3 3 2 1.50
7 |FAAE @R 140 2 1 1 1 1.00
£YERE 35 9 2 2 2 1.00
HihIRER 35 8 2 2 2 1.00
8 |RER LER - BHH 210 34 13 13 13 1.00
9 [BEILIE EER - EEEazaczr-vavE 115 2 0 0 0 -
FHRE SR AH 70 21 1 1 1 1.00
10 |Befor W - BRE - B 105 % 2 2 2| 1.0
CNERE - AR 70 27 1 1 0 _
82 4 Et 300 27 217 25 1.08
No. 242, 2HL B%E8 ‘ ___2XBR
BHAH | SBEN | TREN | AREN | REAE
1 |="EE EEw 80 56 2 2 2 1.00
12 |BER* TLEw 35 29 0 0 0 -
EER 35 22 0 0 0 -
BRHTH % 27 1 1 0 _
13 |BEIE proe) % ” 0 0 0 =
BEREFH 35 14 1 1 1 1.00
FERTLE 35 10 0 0 0 -
14 |FkEE LEw 175 13 6 6 6 1.00
15 |&RE%E S ¥MEIRE 35 2 2 2 2 1.00
REL KR 35 8 3 3 3 1.00
BT % 3 0 0 0 -
BRI % 1 0 0 0 _
=g % 3 0 0 0 =
23 |FEEE EER 240 28 16 16 16 1.00
24 |{EFREFERR @R 58 19 7 7 7 1.00
25 |AKiE LEw 210 23 12 12 12 1.00
26 | BET - B - BB 175 5 1 1 1 100
27 |HAT BEXH 35 12 0 0 0 -
BEH 35 7 1 1 1 1.00
28 |5 LEw 60 48 0 0 0 -
29 |/ B weEER 140 34 0 0 0 -
30 [IZEBR LEw 70 51 1 0 0 -
AT 7R % 5 0 0 0 =
g Ef 457 53 52 51 1.02




No. g P B%xa . __2XB% .
BEAN | AHEN | BREN | AREN | ZHEE
31 |#Lde TER 60 45 2 2 2 1.00
32 | Kehgx BaEEH 35 2 1 1 1 1.00
SRR % 3 0 0 0 =
XEA P % 2 1 1 1 100
33 [Xeh TER 160 7 3 3 3 1.00
E— % 8 0 0 0 =
34 | ABTE p— % T 0 0 0 =
BERE 70 14 0 0 0 —
35 |AfE TER 200 39 1 1 1 1.00
36 |7548 &R - Bus 105 67 2 2 2 1.00
38 |[HEFHE TER 160 15 1 1 1 1.00
30 [REAEEE P 61 1 1 1 1 100
BE R 55 2 0 0 0 =
40 [k TaER 70 1 3 3 3 1.00
HBEEC AT 35 5 1 1 1 1.00
41 |HENI TaER 80 49 0 0 0 —
22 | PN 80 1 0 0 0 -
BERE % 1 0 0 0 =
3 |BR T 175 77 3 3 3 100
W | BRE P 20 1 0 0 0 -
PYNES TS 70 2 0 0 0 =
TERMR 70 1 0 0 0 —
R TER 40 26 1 1 1 1.00
45 [P TaER 70 29 0 0 0 —
2 = F 441 20 20 20 1.00
8B & F 1,198 100 99 96 1.03
TE B 0D ER 58
No. g P s%xa . __2XB% .
BEAN | AHEN | BREN | AREN | ZHEE
4 |KEEEIE TER I1& (REDE) 35 18 2 2 1 2.00
I (REDER) 30 28 0 0 0 —
8 |RERX TERH (RREOER) 35 15 3 3 2 1.50
B 4 61 5 5 3 1.67
22 |#EHBEAESE TER IE (FEIDER) 70 21 1 1 1 1.00
1% (FEOH) % 3 0 0 0 -
ME (REDER) 30 20 1 1 1 1.00
25 |ARiE EER (EEDER) 30 22 1 1 1 1.00
ho® F 66 3 3 3 1.00
% AR E T8 (RO % 7 0 0 0 =
IE (FEDER) 30 30 0 0 0 —
37 [E Ean 1% (REOH) % 8 2 2 2 100
IE (REDER) 30 28 0 0 0 —
B /& 88 2 2 2 1.00
2 & 3 215 10 10 8 1.25
() 2AHERHEEE = 2XRHETREY - 2KHELHEY




